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0 O O 0O 0O https://projecteuler.net/problem=401

0000 $sigma2:x \mapstoxO O OO OO0 O$00 $\sum_{i=1}"~{n}sigma2(i)$0$m$0 00O O
0 $n=10"{15},m=10"9%[]

O000000%$k$0 0 Os$k~2$00 0 $$0 O =\sum_{i=1}"{n} \left \Ifloor \frac{n}{i} \right \rfloor
\times i”2 =\sum_{i=1}"{\left \Ifloor \frac{n}{\sqrt n+1} \right \rfloor } (\left \Ifloor \frac{n}{i}
\right \rfloor \times i~2) \; +\; \sum_{i=1}"~{\sqrt n} (f( \left \Ifloor \frac{n} {i} \right \rfloor ) - f( \left
\Ifloor \frac{n} {i+1} \right \rfloor )) $$ O O $f(k)=\sum_{i=1}"{k}i~2=\frac{k(k+1)(2k+1)}{6}$
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